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Optimization Assignment

Question 1

A farmer has 2400 feet of fencing and wants to fence off a rectangular field that borders a straight river
(there will be no fence along the river). What are the dimensions of the field that has the largest area,
and what is this area?

[Hint: If your answer is a square field, then you forgot to leave off one side for the river.]

Step 1 Define relevant variables.

Step 2 Draw a picture. [on paper]

Step 3 Determine equations relating the variables.

Step 4 Use the given constraints to eliminate as many variables as possible in order to write the
quantity to be maximized (or minimized) as a function of one variable.

Step 5 Take the derivative of our function.

Step 6 Set the derivative equal to 0 and solve for the variable. Find where the derivative is undefined (if
any). These are the critical points.

Step 7 Plug the critical points and the endpoints of the domain into the function. The largest (smallest)
value is the absolute max (min).

Step 8 Check your answer with a graph.
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Step 9 Answer the original question. Don’t forget to use correct units.
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Question 2

A piece of wire 10 m long will be cut into two pieces. One piece will be bent into a square and the other
into an equilateral triangle. In order to fold the wire effectively, the cut must be at least one meter from
either end (in other words, if you cut the wire at  , then  ).

[Hint: The area of an equilateral triangle is  , where   is the side length.]

Part a

How should the wire be cut so that the total area enclosed is a maximum?

Step 1 Define relevant variables.

Step 2 Draw a picture. [on paper]

Step 3 Determine equations relating the variables.

Step 4 Use the given constraints to eliminate as many variables as possible in order to write the
quantity to be maximized (or minimized) as a function of one variable.

Step 5 Take the derivative of our function.

Step 6 Set the derivative equal to 0 and solve for the variable. Find where the derivative is undefined (if
any). These are the critical points.

Step 7 Plug the critical points and the endpoints of the domain into the function. The largest (smallest)
value is the absolute max (min).

Step 8 Check your answer with a graph.

Step 9 Answer the original question. Don’t forget to use correct units.
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Part b

How should the wire be cut so that the total area enclosed is a minimum?

[Note: You do not need to repeat the 9 steps. You should be able to see how to get the minimum from
the work above.]
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